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16U/95/8(i)
No. of Questions : 100
Ul @t UEAT : 100
Time : 2% Hours ' Full Marks : 300
HHY : 2% gue . quiiE : 300
Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section -A and 70 in Section - B). Attempt as many
questions as you can. Each questions carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.
¥ -y § Ha 100 (W) ue ¥ (@vs-a1 F 30 @
GUs-q | 70 ) | AfwIfES 934 B o B H TS DY | AP
S 8 (f9) S @ 21 g Taw guv @ R 0w o
BIET ST | 5% - STARA 957 T Wi o7 & |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

aﬁ'wﬁmamwaﬁw%ﬁmmﬁ,ﬁﬁmw
e 3T T
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01.

02.

SECTION - A
gvs - H

Suppose one student complains to his teacher that three other
students have copied form each other in all the tests, which
suggestion from the following will you like to give to the teacher.

(1) give the three students a zero on the last two tests.
(2) consult with student’s mother.
(3) try to understand why is he saying this.

(4) ignore the remark.

A A R U@ BT oTqe STeATYs A I e HRar & P T e
Bl @l 2w A wh gy QA T e ¥ Fea # A fhw gea @
ST STEATIEH &) AT 6% HL 7 ‘

(1) &5 sET @ s & 2% & SR A

(2) ®BET @ AT § T9h HU |

(3) ¥® THIH & YA & [ IH BE 7 &1 i Hel |

(4) feogeh 9x == A Al

The most promising step for a teacher to take in order to improve
class discipline is to :

(1) evaluate his/her material, methods, and approaches to children.
(2) consult the class and agree upon a graduated series of pun-

ishments.

(3) callaclass parent meeting to discuss the situation.

(4) refer the worst offenders to the guidance centre.



03.

U STATEH b 13 Fell H STIAET B TG B qIA IUGHRT THHN
98 2 6 :

(1) @& o9+t drehl, faftr qer Surm &1 gedis #e |
(2) HEm q RS B TAT qUS P HAH AN 1 FrgRer HX
(3) uRRefy u¥ frar-fawst B @em ifrwEs @ god |

(4) EE9 @Ug STt @ FEIE @ ux A9

Suppose in a conference; the mother of the third grader asks the
teacher how she can help to improve her child’s reading ability.
Of the following the poorest recommendation is that she should ?

(1) encourage the child to make regular visits to the public library.
(2) Take the child on trips to interesting places in the community.
(3) Read with the child.

(4) Severely limit the child watching of television.

a5 o g Aot ¥ g A 9 B @ 6 otees @ gw
Tl & % 98 e UeR § o1UN 9= & Hedw e 3T 957 gl
e X ¥ wed we gema @ &) awar 87

(1) =& 8= =t @esis g § Frafa &
(2) = H GHIE B BB ET P FAT HE |
(3) B & AT ITHTT FY |

(4) o= & Al TEH W BSRET ¥ IHA T |

. All of the following are applicable for teaching to create good

motivation among students except that teaching should :
(1) ~ be brief.
(2) relevant to the pupils.

(3) be related to the lesson that follows.
(4) always come from the teacher.

P.T,0Q,
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06.

Freg & O goft Rreor o=t & o= oo & go @ g ITART B
Hael UF & BISHT :

(1) fareror wfer M1 =@nfeq |

(2) faer =1 & ST BT =iey |

(3) fareor g S A 9IS & SEd BT AR |
(4) fareror BALM SIS G ST AR |

The operation of the class library should be the responsibility of :
(1) The teacher. |

(2) Volunteer parents.
(3] The children who contributed the books.

(4) Rotating committees of pupils.

T T TR B G H el B e
(1) STeATIH |

(2) Wiwms f¥HAEs B

(3) = F=at & e gers e # & €

(4) BET & =EpHAONA |t

In dealing with a class that is misbehaving, the teacher’s least

effective course of action isto:

(1) ask the principal to observe the calss.

2) lower the grades of pupils who create the most serious infractions.

(
(3) isolate those most responsible for the misbehaviour.

(4) ascertain the extent to which his teaching method is

responsible.



07.

08.

TF IIUS FHEl H IR FA & [0 TF ST9H & g gad
Tt T | ? |

(1) urerd § e & STacihT & R 38 |

(2) GEQ 3ifeer AfRTHH HXA et BET B IS H BT FI L |
(3) T & Riw e ST ReR sET @ ST & )

@) Iz MR w5 s R So Rrw B B Soert B

Children’s attitudes toward persons of different ethnic groups are
mostly based upon :

(1) their parent’s attitudes. (2) the attitudes of their peer.
(3) their sibling’ attitudes. (4) their religious affiliation.

Te= & g ST @ B ufy sl ger w9 @ e & @
(1) b Ao @t eilEia ax)

(2 I el @t eiRElRa o)

(3) ST wWiE wew @ Ry ax |

(4) ST @it g x|

A child from a disorganized home will experience the greatest
difficulty with :

(1) well structured lessons.

(2) independent study.

(3) programmed instruction.

(4) short answer tests.

Th [Efed aRaR & a= @ gad ot SR anf

(1) geaftea g )

(2) WO=EIgES TEIIT F F |
(3) SImHRT sTRYw |

(4) VgSTHT uedt ¥

P.T.0.



09.

Effective teacher is he :

(1) who has control over the class.

(2) who can deliver more information in limited period.
(3) who inspires students how to learn.

(4) who carefully check the home assignment.

T GUTT STeATIE a8 B

(1) Forees e 9¥ g1 =01 Bl § |

(2) S 9 gEg F oI GAAT T Hehal © |

(3) =W sEl W ‘BA dEr ST gEs A ARG Hr B
(4) S & HE @ FEEgds Sredr |

10. Which one of the following is an indicative of the quality of teaching ?

11.

(1) maintains pin drop silence in the classroom.
(2) Raises very standard questions.
(3) students reply in the classroom.
(4} Pass percentage of the students.

BT # Q 9T oTSd oTeATa & YOT 1 FESH HIe 8 7
(1) @em # gof enfq &= @A

(2) #AH AT I IBT |

(3) BET ®T Fe H IEK &

(@) =en ® Iciel sEl @l JiLd |

Rajan is the son of Kumar, Sheela is the daughter of Rai ani. Kumar
is Father-in- law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father (4) Son

W,wwgﬂ%,aﬁm,mﬁaﬁgﬁh%uw,mﬁ%aw%:
T e A R e 7
(1) 08 B (2) X @& (3) TuET (4) g



12.

13.

14,

15.

Write the pair which is different from others in the following pairs :

(1) Cycle and Scooter (2) Rifle and Sword
(3) Pencil and Pen (4) Shirt and Taylor
FefafeT & & 59 IR A R o ey 12 @ Py @
(1) wmfhe od wpex (2) EHT ud deER

(B) T wd U (4) =T ug =i
27:16::125: 7

(1) 36 2) 114 ) 136 (4) 216

If Bank is coded as DCPM, how the word BOOK should be coded ?

qﬁaﬁmBanka%ﬂcgﬁﬁﬁ?mm%DCPMﬁﬁTBOOKﬁ%a
Hea oAy o qepar & 2

(1) MPGK (2) DQQM  (3) DQON (4) NMCO
Which one number can be placed at the sign of interrogation ?

qsm%(?)%mwﬁa-ﬁﬁw@mm%?

156 |5
13|13 |9
8 [2 1>
20 | 7
13
(1) 1 @2 4 3) 6 @ 7

P.T.0.
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16.

17,

18.

A man travels 12 km. West, then 3 km. towards South and then 8
km. towards East. How far he is from the start ?

(1) 23km.  (2) 20km. (3) 15km. (4) 5km.
Qzﬁaqféﬁmm.qféanﬁsna%w%ﬁﬂsﬁﬁt.amﬁwﬁﬁﬂ
S%ﬁi.'ﬁﬁwzﬁnwﬁwﬁaﬂvﬁféﬁmmaa@raﬁmg%?
(1) 23 fepr. 2) 20f&T.  (3) 15 feprit. (4) 5 .

Five boys are sittings in & row. A is on the right of B. E is on the
left of B but he is on the right of C. Ais on the left of D. Who sits
first from the left ? |

q’tﬂasfﬁqaﬁqﬁﬁiiaa%'lA,B%m%%%nE,B%aﬁ%,aﬁu——rc
%a%ﬁ%lA,D%aﬁ%laﬁﬁmqaﬁaﬁﬂam%?
(1) D 2) C 3) A 4) B

Anand is older than Shashank but younger than Rohan. Dhanashree
is younger than Seema but older than Rajshree. If Rajshree is older

than Shashank, who amongst them is the oldest ?
(1) Rohan (2) Seema

(3) Dhanashree (4) Can not be determined

amﬁataﬁm%wﬁaa%,mama@a%nmeﬁzﬁmam
%ﬁs@maﬁﬁa@%mmweﬁm%a@%,ﬁaﬂwﬁw

—
(1) e
@) o

(2) €
@) I e S
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19.

20.

21.

16U/95/8 (i)

A person starts from his house and walks 100 meters straight
towards South, takes a left turn'and walks 75 meters straight
towards East. How far is he from the starting point ?

(1) 175 meters (2) 125 meters
(3) 100 meters (4) 25 meters

waﬁamﬁwﬁcﬁwﬁwﬁlooﬁaﬁmw%\ﬁﬂaﬁ
Wmﬁmﬁaﬂr%rﬂﬂzﬂmw%iwmwﬁﬁﬁ:ﬁ
PWwe?

(1) 175 dex | (2) 1254z

(3) 100 #Hex (4) 25 Thex

State the alphabets of the letters which will come next in the
following series :

?faim@ﬁﬁ‘rﬁw%ﬁffaﬁram:
AD, EH, IL, ?, QT

(1) LM (2) MN

(3) MP 4 OM

EDUSAT was launched on :

(1) 9™ September, 2004 (2) 11n September, 2004
{3) 20™ September, 2004 (4) 18 September, 2004
ant I T ferar w7
(1) 9 Ra=R, 2004 | (2) 11 Rwr=r, 2004
(3) 20 Ry, 2004 4) 18 ez, 2004

11

P' Ta 0.



22.

23.

24.

25.

W LR Snlead

Recently Government of Bihar decided to give ------- days Child
Care Leave to its women employee :

o B SRR 9veR X orgd Ateer sHeal /e ... et @
e AT o 37 @ FreEd B e
(1) 365 (2) 600 (3) 730 (4) 800

Which one is the first digital state of India ?

(1) Uttar Pradesh (2) Gujrat
(3) Andhra Pradesh (4) Kerala

| e @ use fefred v @E-ar 7

(1) SwR g&d (2) IO
(3) aTisr WA 4) B

Who is the present Director of National Assessment and
Accreditation Council ?

(1) Prof. H. A. Ranganath (2) Prof. A.N. Rai

(3) Prof. D.P.Singh (4) Prof. Arun Nigavekar
%maﬁﬂﬁ?mw%%smmeﬁqﬁﬂaﬂmqﬁﬁsm%ﬁ%?
(1) 1. T=o To T (2) ot. To THo T

(3) =M. o dio fHE (4) o, oT&EA IGUIEETS

The 2011 Cencus show that adult literacy rate in India has risen

o TR, !

QOIIﬁW%WWﬁ%WHa@m ......

& T B
(1) 74% (2) 65% (3) 85_0_/9 (4) 78%

12



26.

27.

28,

Who is the Chancellor of NEUPA ?
(1) Mr.N. R. M. Menon (2) MR. J.B. G. Tilak
(3) Mrs. Usha Tygrajan (4) Mr. Baswaraj Swamy

T8 g H T P aaeR A D7
(1) =it @9. IR, wq. A9+ (2) =it 5. &Y. S, Rees
(3) =ih Sw ®@FRIeH (4) =N sES @t

The ‘Sarva Shiksha Abhiyan’ aims for the given :
(1) Universalization of Primary Education.

(2) Universalization of Secondary Education.
(3) Universalization of Pre-Primary Education.
(4) Universalization of Girl Child Education.

wd R s & o

(1) SRy fSrem @ qresidiesgor
(2) =reatie Rrem @ G
(3) tﬁi—ﬂmfﬁm%wvﬁ?ﬁtﬁmt
(4) iRt e @ arelsfeieor

When is the 12" Plan coming to an end :

(1) 30™ June, 2016 (@) 31" March, 2017

(3) 31™ March, 2018 (4) 31" March, 2019

aﬂaﬁﬁﬁmmm#ﬂ?

(1) 303, 2016 (2) 31%r, 2017

(3) 314m, 2018 (4) 319w, 2019
13

P.T.0,



29.

30.

PMMMNMTT was launched in :

(1) December, 2014 (2) February, 2015
(3) March, 2015 (4 April, 2015
ﬁ@@@@@aaaﬁwﬁﬂm: -

(1) fa=T, 2014 (2) ®w@Ed, 2015
(3) ==, 2015 (4) o, 2015

Which of the following University receives its funds directly from
Government of India ?

(1) RGNAU, Raibarelly
(2) JNU, New Delhi
(3) B.H.U., Varanasi

(4) Vishwabharati, Shantiniketan, W. B.
ﬁwﬁﬁaﬁw—wﬁwﬁmaww@wﬂaﬁfﬁmm%?
(1) o o o T g, TR

(2) & © g, 7z Rl

(3) &t T= F, AR

(4) faea wAR, oifeafrea+, 9. .

14



31.

32.

33.

SECTION - B
ges - §

The cost of erection of an old machine will be posted in the credit side
of :

(1) Cash Account
(2) Machinery Account
(3) Repairs and Renewal Account

(4) Repairs Account
@Bgmﬁqﬁﬁﬁﬂh$TGﬁam%3ﬂEmf*ﬂﬁﬁ?%tmnqa
(1) s @ (2) wfH @

(3) WG T AR @A (4) AT @

In case of a firm’s dissolution, the balance of Realisation Account in
transferred to partners’ capital Accounts :

(1) In capital ratio (2) Equally
(3) In profit sharing ratio - (4) In partner’s loan ratio

Calls -in- advance is a :
(1) Long term Liability (2) Current Liability
(3) Contingent Liability (4) None of the above

15 P.T.O.



34.

35.

36.

A grEFET § U

(1) ArimRiE A (2) AT e

(3) TEEA (4) SUdaEd # Hig e

When shares are forfeited, the share capital account is debited to :
(1) Paid-up amount (2) Called-up amount

(3) Calls -in- arrear (4) Nominal value of such shares

ot Sig T BYoT A Ser & A ofer oA @ Sfae
ST ®

(1) g

(2) =ifera wfer &

(3) ISl el ST SUERII]

(4) TR el B oifwa gEa |

A and B are partners sharing profits in the ratio of 3 : 2. C is admitted

with 1/3 share in the profit. What will be the new profit sharing ratio ?

‘cﬁ’aen‘a’qmtmﬁfS:Q%agqmﬂm-aﬁfahﬁ%l‘a’am
ﬁI/SW%WWWW%lw—EﬁWWW

ST T B 7
[1) 83:2:3 2) 6:4:3
@) 6:4:5 4 3:2:5

Consider the following steps :
(1) Material consumed (2) Factory cost

(3] Prime cost (4) Costof production

The correct sequence Of these steps in cost-sheet is :

16



37.

38.

10UV / 7o/ O (1)

Fr=faRas avon o faemr it

(1) uged G (2) HREET AR
(3) IS @AFTT (4) ST AFTT
AETT-9= H E =N HOGE STHH N

(1) AB,C,D (2} A,C,B.D
(2 A C,D,B, 4) D,C,B,A

Fixed cost per unit decreases when :
(1) Production volume decreases
(2) Production volume increases
(3) Variable cost per unit decreases

(4) Variable cost per unit increases

Rer @t ofr 3 % gfs At ® o -

(1) SORT 9= # 5 ey 2

(2) SRS "= 7 gl Bidr

() uf s wRaddta arm & =9 o 2
(4) i g aRecsiiar ever & gfis et &

Under the process of delegation of authority the subordinates are
assigned :

(1) Authority (2)  Responsibility
(3) Accountability (4) None of these

g
(1) SRR (2) =wifae
(3) SETE IIdr (4) 9 @ T T

17
P.T.0,



16U/95/8(i)

39. Who adopted the scientific appfoach towards management for the

40.

41.

42.

first time ?

(1) Henry Fayol (2) Elton Mayo
(3) F.B. Gilberth (4) F.W.Taylor
gaeer & gfer Jsnferes gftespior wddem SqemEr ¢

(1) T8 wA (2) weeT HAl

(3) UH.€l. My (4) TH.T=Y. oo

The industrial finance corporation of India was established in the
year :

(1) 1948 (2) 1951 (3) 1962 (4) 1972
wredi ofrenfe faer P wnf gem o ad
(1) 1048 d @) 1051 F  (3) 1962 H (4) 1972 H

Which of the following is charter of the company :

(1) Articles of Association (2) Memorandum of Association
(3) Prospectus (4) None of the above
et # A HwT @ AR ©

(1) W sTatiaH (2) ariE i

(3) Sfaaser (4) ST H & C R |

Which one of the following is not a function of Central Bank ?

[1] Regulation of currency

(2) Custodian of cash reserves of commercial banks.

(3) Controller Of credit

(4) Credit creation

18



43.

45.

16U/95/8 (i)

Fr=fifeh & @ -9 F By b H A A8 B 7
(1) HEE & Frams
(2) afTRUH Sehi & TeHal BT BN AT

(3) W@ F FHE=E (4) @@ =1 fHEtr
Deficiency of sodium causes : :
(1) Hyponatremia (2) Hypernatremia
(8) Goiter (4) Hyperkalemia
qifegs &t it B BHROT B arEr AT BT T
(1) eE9AsEET (2) BEURASET
(3) ®H=r (4) EEUTHATEET

. Iron is absorbed in :
(1) Duodenum & jejunum (2) Small Intestine
(3) Stomach (4) Blood
qle H SraNyoT By L
(1) TFamer g Siof (2) ®BIEr ofig
(3) STHIA 4) =

Disease formed due to deficiency of vitamin D’ -

(1) Tetany (2) Phrynoderma

(3) Erythocyte Haemolysis (4) Night - blindness
R SV # BN/ Bg-mr P S D 2

(1) fee=h (2) shIgerEH

() SR AR ) <

19
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46.

417.

48.

49.

29/ 8(1)

Instrumental value is also called :
(1) Goal value (2) Inner value

(3) Factual value (4) Ideal value

m'”“'“ﬁﬁaﬁﬁ‘xﬁmm%:

(1) <& JeH (2) ST=IiReh T&d

(3) TeATHH TA (4) oT=EereTE I
Permanant hardness of water can be removed by :

(1) Boiling (2) Clark’s process

(3) Castic soda (4) Calgon process

S T HONdT Fh SR q gX & S Fedl § 7
(1) Jamrhl (2) T At |

(3) wiftes el R (4) der fafy |
Daily calorie requirement of the ladies aged about 20-22 years is :
(1) 2000-2200 k.Cal. (2) 1000 - 1200 k.Cal.
(3) 3500 - 4000 k.Cal. (4) 500 - 1000 k. Cal.

zoﬁzzmmﬁﬁmmﬁ%ﬁﬁm&maﬁ
-k

(1) 2000 & 2200 . SArf (2) 1000 - 1200 f%. CISIRA

(3) 3500 - 4000 fp. el (4) 500 - 1000 . FAr

Deficiency of ‘Niacin’ causes :

(1) Dermatitis (2) Night blindness
(3) Anemia (4] HYPOParathyrodism

20



50.

S1.

S2.

10U/

e &t & & A e g ?

(1) sAeERY (2) e
(3)  STTURERTAT (4) ETEURRRIEAREH
Which is not a fat soluble vitamins ?
(1) Vitamin A (2) Vitamin D
(3) Vitamin C (4) Vitamin E
Fet & | a1 o § gemsien e a8 & 7
(1) fRefm @ | (2) FrEfEE <y
(3) frefs <y (4) faefs €
One Gram fat contains :
(1) 9 calories (2) 4 calories
(8) 5 calories (4) 6 calories
Th A a9 H haft S oy L 2
(1) 9Bard (2) 4 derdt
(3) 5dard 4) 6dard
A plan is evaluated with the help of which chart ?
(1) Pathway Chart - (2) Gantt Chart
(3) Operation Chart - (4) Multiman Chart
%wﬁmﬁmwmmw%?
(1) qr@E e 2) ¥ orF
(8) TR = (4) TR grs

21
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53.

54.

55.

Main technique of work simplification is :
(1) Individual technique (2) Group Technique
(3) Formal Technique (4) Graph technique

1 WALl b T qeheilh &

(1) AFRTI dqeheiteh (2) @rfesH dbrilD

(3) aNrg=nies it (4) ATH REGIEY

Cause of changing unsaturated fatty acid to saﬁurated fatty acid is :
(1) Hypoparathyrodism (2) Hydrogenation

(3) Keratomalacia | (4) Osteomalacia

emqaaﬁum@%wa@amﬁam%mmw
a7

(1) FEARRTEIR (2) EEEISIBTT
(3) LT (4) SR g
Name the planet with the-largest number of satellites.
(1) J upiter (2) Uranus

(3) Saturn (4) Naptune

ﬂaaammmﬁmwmaaﬁﬁi

(1) geE @ oot

o) oIf (4) 9o

22



56.

57.

58.

16U/95/8 (1)

Who divided the interior of the Earth into 3 zones Sial, Sima, Nife ?
(1) Arther Holmes (2) Edward Suess
(3) Kober (4) Jeffreys

fFe geit = eI &XaeT @ W wrl Ry, @ B §
et fomar ?

(1) omeR B (2) Tsag gud
(3) T (4) SBhAST

Which one of the following is a metamorphic rock ?
(1) Dolomite (2) Sandstone
(3) Shale (4) Gneiss
Frfafad & & @9 wurafg e 27

(1) rEEE (2) ST B GRR
@) 9 (@)

Which atmospheric layer absorbs in ultraviolet rays ?

(1) Stratosphere (2) Troposphere
(3) Ozonosphere (4) Ionospheré
T AT G Y AT Bt s e ¥2?
(1) A9 qusq (2) & [usq
(3) SN Hoa (4) T gugg
23

P.T.0.
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59. Inversion of temperature denotes :
(1) Increase in temperature with altitude

(2) Increase in temperature with latitudes

(3) Decrease in temperature with altitude
(4) Decrease in temperature with latitudes

ATt Rreimar d@éd &l ©

(1) = & @ agae 7 gha @l
() ol & @ aOH § g @
3) *'Wé%wamﬂﬁmaﬁ
(4) oreIEl & | e H B Rl

60. Which one of the following is not a cold oceanic current ?

(1) Benguela current (2) Brazil current
(3) Falkland current (4) Labrador current
Frefifed § & @i o ovdl w g el ¥ 7

(1) Sar 8T (2) STl R

(3) GEHAYS ORI (4) AAER =R

61. Out of the following markout the primary consumer :
(2) Plants

(1) Herbivorous
(4) Omnivorous

(3) Non-vegetarians
R & & o ST @ fated S

(1) qrerd o () (@) o
(3) wErErd () watErd ()
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62.

63.

64.

65.

Who is considered to be the father of Human Geography ?
(1) Blache (2) Brunhes

(3) Retzel (4) Demongeon

fF8 Aa e @1 S "1 SEr & 7

(1) st ()

(3) e (4) femferat

The Census work in India is being done since :
(1) 1882 (2) 1872 (3) 1892 (4) 1902

AR § ST B FE Q) <l D7
(1) 18829 (2) 18729® (3) 18929 4) 19027

‘Vidarbha’ constitutes the part of the state :

(1) Madhya Pradesh (2) Maharashtra

(3) Gujrat (4) Karnatka

Taewd’ fber wow @ wew () B 7

(1) J&F u_sr & | (2) HERTSE

3) ISR (4) @HATeH =

Who defined geography as the science of Human Ecology ?
(1) H.H.Barrows (2) R.E. Dickinson

(3) R. Hartshorne (4) E. Huntington

Roe ol Y A wiiRefedt (TRReaf-Rer) & e
=7 & qRefye Rear ?

(1) 0. R Q) ome.E. Ry
(3) oY BEWA (4) §. sfeeres
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66. U- shaped valley demonstrates :

(1) Uniform slope ' (2) Convex slope

(3) Concave slope (4) Undulating slope
g~ Bl b1 fopg g B oI B Sl §

(1) |99 o (2) IART T

(3) ¥AIRY BT (4) TEE B

67. Who was the author of the work ‘Mudrarakshas’ ?
(1) Vishnugupta (2) Kalidas
(3) Vishakhdutt (4) Banabhatt
UETRTE’ A hi T 7

(1) fersope (2) aHIferErd
(3) fremEEst (4) MOTAE

68. Fourth Buddhist Council was held at :

(1) Prayag (2) Kundalban
(3) Nalanda (4) Taxila

(1) sarT o 2) HSaT &
(3) Ardar H (4) aefar H

69. Which is the main source for knowing about the ‘conquests of
Samudragupta ?

(1) Hathigumph inscription

(2) Prayag prash asti

(3) Junagarh inscription

(4) Mehrauli Iron pillar inscription
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70.

71.

I &l ot & St & R age d@a de-ar ® 7
(1) sRrw s (2) T we
(3) SFTTE TR | (4) A H1 e & A

Which of the following rulers was the disciple of the Jain monk
Bhadrabahu ?

(1) Ramgupta
(2) _Chandragupta Vikramaditya
(3) Chandragupta Maurya

(4) Bindusar

FrtafeT § @ @B-ar e S Ay wwaE B R e ?

(1) e (2) =TS fpmies
() =r=Ia A (4) Rrgar

What is meant by ‘manram’ during Sangam Age ?

(1) Judiciary _ (2) Cultivable land
(3) Worship place (4) King’s court

SALICIRIC Rt U I e
(1) = @ o e gy
(3) IS T (4) ST &7 @R
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72.

73.

74.

Who was the founder of Nalanda University according to Hueng Tsang ?
(1) Shakraditya (2) Dharampal
(3) Rampal (4) Sheelbhadra

BN | @ SR Al favg fgaweE @ e e v
(1) STERTaT (2) uﬁw

In which session of the Indian National Congress declaration of Purna
Swaraj was made ?

(1) Gaya sessivn (2) Lucknow session

(3) Calcutta session (4) Lahore session
‘mﬁﬁqvﬁﬁqaﬁ‘ﬁﬂ%ﬁ'ﬁﬂeﬁﬁ%ramﬁ‘gﬂfmﬁ’aﬁa?@ﬂaﬂ
P T 7

(1) o SATEEsT (2) TETS AL

(3) Ferpsn AfEe (4) TR Al

Who is given the credit of establishing ‘Forward Bloc’ ?

(1) Jawaharlal Nehru (2) C.R.Das

(3) Subhas Chandra Bose (4) Masani
wptrae i zﬁwmaarauﬁﬁéfwm%?

) Fare &l EIES (2) Hlo3 oaTd
g T a (4) wEE

(1
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75.

76.

In which of the following Acts, provision for separate electorates for

Muslims was made for the first time ?
(1) Indian Council Act 1861

(2) Indian Council Act 1892

(3) Indian Council Act 1909

(4) Government of India Act 1919
Frfafed & @ @ stfafaw & giendt & R gt a) g
feates gomelt @ sEwer @ TS

(1) wcha aRwg sifafem 1861
(2) e uRee eifafam 1892
(8) wEiF uRww srfufrm 1900
(4) R PR SR 1919

Who laid the foundation of revolutionary activities abroad for India’s
independence ?

(1) Shyamji Krishna Verma (2) Lala Hardayal

(3) Veer Savarkar (4) Madam Cama
fﬁ%ﬂﬁﬂﬂ?ﬁqw%%qiﬁiﬁimﬁﬂﬁﬁﬁlﬁﬁ?ﬁaaﬂgﬁ?ﬁ
IR & she™ d e el ?

(1) <amASH Hwor guf (2) <R EXEET

(3) IR HrEREHT (4) ASH Fmy
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7 L . . "
7. Whose name is associated with the ‘subsidiary ‘alliance system’ in

78.

79.

Modern Indian History?
(1) Lord Cornwallis (2) Lord Dalhousie
(3) Lord Wellesly (4) Lord Hastings

aMyfrr ART & sfer # deraw e @l Haen | fhww T
9ol & ? |

(1) S FHrHaTied (2) @ SRS

(3) 2 Aciorail (4) @S BRET

YVernacular Press Act’ was passed during the regime of :
(1) Lord Curzon " (2) Lord Minto

(3) Lord Ripon (4) Lord Lytton

feh® rdeblel § ACTHAT J| e qrE gIT 7
(1) «fS ol () S B
(3) @te o= 4) «E e

The primary function of the finance commission in India is to :

(1) Prepare the Annual Budget.
(2) Advise the Prime Minister on financial matters.
(3) Make recommendations regarding distribution of taxes between

centre and states

None of the above

(4)
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80.

81.

ARA B O STERT &1 urefyes e ?

(1) ot sste g

(2) gu=HEAT @ AT "t § qare 24T

(8) &= TAT TSIl & & Y [AaT0T & gk ¥ RwiRer
(4) SUAET H g 7E

Other things being equal, an increase in the quantity supplied to the

~ market as given prices, leads to :

(1) A lower price and an expansion of demand

(2) A lower price and a contraction of demand

(3) A higher price and an expansion of demand

(4) A higher price and a contraction of demand

e o At qA B, A o R g A 9w aem ool |
g @1 aftomm &ar 2 -

(1) Fr=1ax @ma @ /i § e

2) P ama qer =i § wgE

(3) TR @A TT HiT A e

(4) ISR B T A F HgEA

The locus of constant satisfaction is called :

(1) Utility function (2) Expansion path

(3) Isoproduct curve (4) Indifference curve

31 P.T.O.



82.

83.

84.

Rex A & ger @ ey owar B
(1) IYARET wHea 2) fa=r g

(3) €HIUE g5F (4) T TGH

In Cobb- Douglas production function, the elasticity of substitution

between factors of production is :
(1) Greater than one (2) Less than one

(3) Equal to one (4) Infinite

FHE-STAE IS B |, Iaed & qareF & are Siaem=

A B B o
(1) THE I Afrp (2) THES F FA
(3) FHE & S (4)

For inferior good, income elasticity of demand is :

(1) Zero (2) Positive
(3) Infinite (4) Negative
frer STt 1 awgett & R, 79T @1 o we e
(1) = (2) D
(3) A< (4) FRONHD

The concept of ‘Vicious Circle of Poverty’ is associated with :
(1) Karl Marx (2) R. Nurkse

(3) Adam Smith (4) A.C. Pigou
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8S.

86.

87.

e b1 e @ sTuROT e ® o
(1) e ARE | (2) S0 THH &
(3) usH faer § (4) Todio drp |

Who, among the following agency, regulates mutual funds in India ?

(1) SEBI (2) National Stock Exchange
(3) Reserve Bank of India (4) Indian Bank Association
M1 & & - W aRd § gednr RRE & R s S 7
(1) = _ (2) IsHT W uagEsT

(8) e Rod e (4) AR ¥ Gy

Disguised unemployment is a feature of :

(1) Trade (2) Transport
(3) Industry (4) Agriculture
T8~ ST U fshyer

(1) =9I i (2) I @t
(3) & FH (4) Y

The estimation of national income in India is done by :
(1) Reserve Bank of India

(2) Control statistical organisation

(3) Planning Commission

(4) Ministry of Finance

5 P.T.O.



WA F S S T SPAA Al SR ¥
(1) w9 Red J6 5 2) d=a Hifem e &
(3) ANSTHT ST &RT (4) fo H=AE ERT

88. Interdependence among sellers is a salient feature in which of the

89.

following market ?
(1) Monopoly (2) Perfect competition

(3) Oligopoly | (4) Imperfect competition

Bael @ d Rk R B eI @ e Faear @ 7
(1) THITHR (2) goT wfcra
(3) TR (4) erget gfeREr

Poverty level in India is estimated on the basis of :
(1) House hold consumption Expenditure

(2) Slum population in the country

(3) Per capita income

(4) Average income of household

Wﬁﬁsﬁw%waﬂaﬁzﬁaﬂﬁﬁmm%

(1) qfare @ g S & ST Y
2) fer Attt @l SMEEAr ® STE 9%

() ofer @R ST & SR T
(4) qﬁﬂi’fﬂ%ﬁrﬁﬁeﬂrﬂ%m“
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90. How many members are nominated in Legislative Council, by Governor :

am aRReg @ R @@ w9 & Tsgure @RT A9 e
ST B 7
(1) 1/4 2) 1/3 3) 1/6 4) 1/12

91. To whom, speaker of legislative assembly tenders his resignation :
(1) Governor
(2) President
(3) Chief minister
(4) Deputy Chairman of Legislative Assembly

faarT | sremer (whene) orom @S ReEer 3T 7

(1) 99 (2) rsufer
(3) HegH: (4) = | Iqreder

92. The term of Chief Election Commissioner is :
(1) 6 years or 65 years, which ever is earlier

(2) 6 years or 62 years, which ever is earlier

(3) S years or 65 years, which ever is earlier

(4) 6 years or 60 years, which ever is earlier

e Fates g &) qaEfy oy e

(1) 6Ersfm6sasfa%eng,eﬁaﬁugago%é’n
Q)6a&m62miﬁamL®Wﬂ%ﬁgﬁ€h
(3) 5aﬁm65aéa%aﬂg,ﬁﬁfﬁqzﬁgﬂf€n
m6ﬁmwﬁﬁmmhhﬁwﬁ
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93.

94.

95.

In which circumstances, president may proclaim National Emergency ?
(I) War | (2) - External aggression
(3) Armed Rebeltion (4) All of the above

Wﬁv@aw@a@waﬁqﬁﬁmﬁﬁmm
37 -

(1) F= | (2) aTed SAEHHT
(3) @A faEie (4) FTH | |

Sarkaria Commission was set up for the inquiry of :
(1) Jail Reform
(2) Centre - State Relation

(3) Upliftment of Backward classes

(4) Education Reform

mﬁma@ﬂﬁm@ﬁm&%ﬁﬁ@%&%w@wﬁsﬁa
® forg g ot ?

(1) S gar (2) FHE-ToF T @

(3) s ot & sed & e (4) fRer gan

Who was the Chairman of First Financial Commission ?

(1) K.C. Niyogi (2) N.K.P. Salve

(3) K.C.Pant ' (4) K. Santhanam
qer e STEANT B TSR B g ?

(1) Fodio FEr (2) TAodHodo A
(3) Hodlto T (4) Fo WA
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96.

97.

98.

Consider on the following officers :
(1) Cabinet Secretary (2) Chief Election Commissioner
(3) Member of Federal Cabinet (4) Chief Justice of India

Appropriate order/ sequence regarding heirarchy is.

(1) iii, iv, ii, i (2) v, iii, i, i
(3) v, i, i, i (4) i, iv, i, ii

i afeiRal w R #ifve -

(i) #ARHsa afag (i) &I Ma=T STy
(i) HET AREHsT e (iv) ¥RT & g =Enier
ST & %7 F TR [E STIHA B

(1) i, iv, i, i (2) v, iii, i, i

(3) v, ii, i, i (4) iii, iv, i, ii

By which, Constitutional Amendment Bill voting age was reduced
from 21 to 18 :

(1) 48® (2) 57® (3) 61n (4) 63w
mﬁmﬁaﬁmﬁa%mméﬁaﬁeﬂgmﬁ%w
18 gy T & iy ?

(1) 48a (2) s7al  (3) e1af (4) 63ai
Panchayati Raj in India was started in -

(1) 1956 AD. (2) 1957AD. (3) 1958 AD. (4) 1959 AD.

maﬁﬁamﬁwwmmrrﬁmw:

(1) 19560 (2) 195780 (3) 1958830 1959 g0

ol P.T.0.
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99. To whom, Speaker of Parliament tenders his resignation :
(1) President

(2) Vice President
(3) Prime Minister
(4) Vice President of Lok Sabha

BT TR ST NS {ehaehl adl & 7
(1) rsgafer (2) USRS W
(3) SETHAT I - (4) SHTNT H IUTETE Bl

100. By which of the following scheme known to transfer of Universal Power
to Indian in 1947 ?

(1) Durand Scheme (2) Minto Marley Scheme
(3) Mountbettan Plan (4) Wavel Plan

ﬂﬂ?ﬂ?ﬁaﬁaﬁ?wwﬁﬁﬁfﬁqwﬁfﬁiﬁzﬂﬂﬁwﬁ@
fope g @ ST T 7
(1) $IoS AT (2) F-ARt S

(3) HEUEATT AT - (4) Ada AT

5,000
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10.

11.

12.

13.

i & fom fdw

(0 qfeT & New AU g O 441 IA- & g gl
Sawr He-Freit arer-@rEe 47 8 & fra)
T gft e & 0 fire % S @ 2 9 f o § 7 HE € S A
W@Fﬁé'wmﬁaﬁmwﬁwmﬂmﬁmﬁéﬁw
T 0 Y e &
zﬂ&ﬂ:gjﬁﬁmwrﬁﬂm—w%wﬁﬁﬁ%{@urmﬁﬁ@mm
G| )
W-Wmﬁﬁmw?:sﬁ#ah??’sﬁtva?a%ﬁaﬁ]mm-w:g?ﬁwm;
%ﬂwm—wmﬁgﬁﬁ?ﬁmaﬁm
mmwmmmmwaﬁm—wmﬁﬁ@ﬁ%ﬁﬁﬁwmm@
m—w%nwgewﬂ?#magmfﬁﬁaﬁiﬁmwm'mﬁa‘ﬁﬁqﬁaﬁ
fﬂ?e‘gg_a’*'l wﬁ»ﬁﬁmﬁﬂﬁm-gﬁﬁmwmawﬁzwwaﬁamﬁ
qv 1o7d]
sto THo M0 7T OT A G, WW?#M(#%@W
;:;ghmwmﬁ aitt afto THo IMo UA #wa?yﬁ@a?'#'auﬁﬁmaﬁagwﬁ
!
wgmwﬁfﬁw?‘ﬁaﬁiaﬂuﬁa?ﬁmrﬁﬂwmmmwmﬁ?wmw @ ST
qreT &1 YART WAL A
m—g@mﬁ'mm%méﬁmﬁiﬂ#?:ﬁaFm%aﬁwm%m
mm-w#wﬁadfﬁr%mﬁﬁ&ﬁqwﬁm-wéwquwﬁﬁn&
ﬁé&vﬁ'%aam&?#mafm?!
ﬂ@ﬁm%w%mmwﬁﬁaﬁwﬁlﬁﬁaﬁ%qﬁaﬁwm
mwﬁﬁﬁa@wﬁm%mmmaﬁm
mé‘ﬁwmmﬁmaﬁmmmqﬁwma‘: afy amq et q99 &1 3T
7&1 a1 g &, ﬁ#ﬁﬁﬂﬁ%Wﬁaﬁwﬁﬁ'ﬁWW3'l oR wvt 9 T
3% fad wma



